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Physics paper 1

Correct
S# Question Option (A) Option (B) Option (C) Option (D) Answer
1
A horizontal line in displacement-time graph represents:... uniform au:.l:eleraled motion with nlconstanl motion with canstant body at rest D
motion velocity speed
2
A car travels 30 m toward east, then it takes turn and travels 40 m
o 75 m/s 1mis 1/5 mis S mis B
3 towards north. It takes 50 seconds. lts average velocity is:....
A constant force F= 2i + 3j +4k is applied on a body what will be the
0 10 45) 20J D
4 work done to move a body 5 m in z- direction
5 electron volt is the unit of voltage current energy power [
6 What is 1 radian in degrees approximately 57.3 degrees 360 degrees mdegrees 2 degrees A
If a wheel o!‘ radius r t,.lrns tlllrau_gh an ang!e of 30°, then the distance e . 30 180r B
7 through which any point on its rim moves is?
- elastic
tat I
The oscillating object overshoots the rest position due to: restoring force inertia gravitationa potential B
potential energy
8 energy
Time period of the wave is 1/4 sec. How long does it take to pass 20 5 sec 80 sec 1/80 sec 1/5 sec A
g complete waves from a point?
Ina periu-c.jln wave, the distance between second and fifth crests is 15 45 cm 5 cm 15 em 1/3 em B
10 cm, what is the wavelength of the wave?
numbares molecules acau average force per molecules
When an ideal gas of constant mass is heated in a container of fixed ) Py impact at the collide with
A K 8 molecules per unit | greater volume of . . [~
volume. What is the reason for the increase in pressure of the gas? f A container wall each other with
volume increases the container . )
increases greater force
11
Some ice, at its melting point, is added to m kg of water at initial
temperature 290 K. If ¢ is the specific heat capacity of water and L is 17mc L 17m 290m
latent heat of fusion of ice. lce melts completely. mem————— eI S - ————— D
Final temperature of the water is 273 K. What is the minimum mass of L 17mc Lc Lc
. ice that is required?
Anideal gas of N molecules are enclosed in a container at a constant NR Mk
pressure p. The graph between volume of gas and its absolute | = =eeeeee NRP | e Nkp c
temperature is a straight line. What is the gradient of the graph? p p
13
. ) gl
If two point charges tl.\fcharge .qI and g2 are placed at distance d. The qi +q2 q1-q2 o al*q2 D
force between them is proportional to:... q2
14
An charge is moving with velocity v, it enters a uniform magnetic field
B . The direction of v is perpendicular to B. parabolic circular parallel to v parallel to E B
15 What is the path of the charge particle inside the magnetic field?
Ohm's Law is applicable only when temperature remains changing absolute zero constant None of these c
16
17 Resistivity of a conductor depends upon temperature length cross sectional area | None of these A
18 Internal resistance of a battery is ohm, if, E=10V , Vi=9V, I= 1A 1 01 0.01 None of these A
19 Cos ©= 0/ BA A B B*2 A
An elgctran is mmrlng along the line .af force in magne?ln fjield B with Bue Balu Bulg 0 D
30 velocity u, then maximum force acting on the charge is given by
. . . behaves like north | behaves like south | becomes magnet of does nc.t
Face of coil having clockwise current ; behaves like B
pole pole varying poles
29 magnet
If we make the magnetic field stronger, the value of induced current is Decreased Increased Vanished Kept constant B
22
L ) . . . —_— half wave ’ .
The principle behind the werking of cathode ray oscilloscope is oscillation . : full wave rectification | none of these B
23 rectification
If a half wave rectifier is us_ad to t:“.ll)nvar‘t 5IJHz_AC intoa DC, then the 25 50 100 75 B
24 number of pulses present in rectifier voltage is
Charge of photon is 0 positive negative posmve;'negahv A
25
The uncertainty in momentum and position is due to its praperty G,' n-_latter twa dlme.nsmnal extreme velocities small size A
26 and radiation motion
27 Energy of the 4th orbit in hydrogen atom is -2.51 eV -3.50 eV -136eV -0.85 eV B
If the u.:nlza.tlon energy of hydrogen atom is 13.6 eV, its ionization 13.6 eV 136.0 eV 3.4 8V none of these A
28 potential will be
29 What is the unit of decay constant second minute hour (sec)™-1 D
30 what is the maximum electron energy in neutron beta decay 783 eV 783 KeV 783 GeV 783 Tev B
- - - " oA -
The half life of U-238 against alpha decay is 4.5°10"9 years, find the 2 4*10%-4 Ci 3.34*10%-4 Ci 4.34*104-4 Ci 2 4*104-5 Ci B

31

activity of 1 kg of U-238




Physics paper 2

S5.# | Topic Sub Topics Question Answer Option (A) [ Answer Option (B) I Answer Option (C) [ Answer Option (D)
1 Force and Motion Velocity Rate of change in displacement is known as:... speed velocity acceleration momentum
5 E d Mo Displacemeni-fime A mofion with increasing velocity can be represented on horizontal f a curve line with decreasing  a straight line with constant a curve line with increasing
orce and hotien graph displacemeni-fime graph by:... @ honizontal fine gradient gradient gradient
3 Eorce and Motion Displacement Displacement of an nbjeql with lespecl _tu E constant moving(v) ot - « Pa—
frame in same direction is
N . Average velocity of an object after completeing a circle of 5 m
4 Force and Motion Velocity radius in 5 seconds pag s zZero 10m
5 Force and Motion Velocity Average velocity is defined as displ i dist: i distance*time displacementtime
6 Work and Energy Work Work done by friction force is always Negative positive zero maybe ?IZZ‘;I;\TE maybe
7 Work and Energy energy In case of harmonic escillator total energy remains variable infinity constant zero
3 Work and Energy Kinetic Energy A bullet fired from gun can pierce a target due to heat energy mechanical energy acceleration kinetic energy
9 Waork and Energy Kinetic Energy The K.E. of a body of mass 2kg and momentum of 2N s is : 1 24 3J 4]
Force constant k1 and k2 of two spring in ratio 5 : 4. They are
10 Work and Energy Potential energy stretched by same length, if potential enery stored in one spring is 254 164 1004 204
25 J then potential energy stored in second spring is
y . __gul - N - The resultant force acts
Rotati | and PR Abody is moving in a circle at constant speed. Which statement is . The resultant force acts away
1 circular motion C P force true? towardtf'eﬂﬁrz;:nlle of There is ne resultant force from the centre of the circle none of these
. Change in angular . . _ . .
Rotational and . . " Change in displacement / Change in speed / change in Change in acceleration /
7
12 circular motion Angular velocity What is angular velocity? mlatlon;;rc:lr:nge in T in fime time change in fime
13 gﬁ:it::ﬁ.::lrodn Radian The angular measurement is known as, measurement parameter area circumfrence all of these
Batational
14 ICilCLIlEI’ M:I:-Iodn Cenfripetal force The cenfripetal acceleration formula is given as Vir " ma none of these
15 gﬁ:it::ﬁ.::lrodn Centripetal force The fripetal leration is n when radius r is increasing decreasing constant none of these
- . . . . , radio . radio waves, microwaves, water waves,  waves on a rope, radio waves,
16 Waves Speed of sound in air Which group consists of only electromagnetic waves: e 1 red sound infra red infra red
Principle of A wave passes through a medium, each particle of the medium
17 Waves superposition/superpo performs 100 complete vibrations in 5 seconds. What is the 2Hz 20 Hz 4 Hz 40 Hz
sition of sound waves frequency of the wave:
Observer is moving o - .
In a periodic wave, the distance between second and fifth crests is ;
18 Waves away from a . » 45 cm 5cm 1/5cm 1/3 cm
stationary source 15 cm, what is the wavelength of the wave?
" Frequency of a travelling wave is 2000 Hz. Its speed is 300m/s. .
19 Waves Amplitude What is its wavelength? 203 m 203 m 320 m 213 m
The points which are in phase are separated from one another
20 Waves Angular frequency through a distance of : 1 wavelength 1.5 wavelength 0.5 wavelength 2.5 wavelength
Specific heat and A car of mass M is moving with speed v. The brake of mass m and
. Molar specific specific heat capacity ¢, iz used to stop the car. 3 2 2p
= Thermadynamics heat/zpecific heat If half of the kinefic energy of the car is absorbed by the brake, LA E R e mvi/4hlc mv3i2hie
capacity than what is the increase in temperature of the brake?
Sﬁ;’gfsh::;i;;d A 500 W electric heater is used to heat 1 kg of water without
22 Thermodynamics heatispecific heat  SNET0Y losses. The specific heat capacity of water is 4.2 kJ kg K. 7 seconds 42 seconds 7 minutes 420 minutes
pecil What is the time taken to heat the water from 25 °C to 75 °C?
capnacitv
A container is filled with oxygen and helium at the same
Specific heat and femperature. The mo\a;;r;iis;; ic;f‘;:l);rgnzr; is 32 g/mol and that of
23 Thermodynamics E'\gg':p’ ESC‘T;CC'E; At What is the ratio: 18 8 18 3
capacity average speed of oxygen molecules
average speed of helium molecules
24 Thermodynamics lh;ﬁ;é@‘:ﬁ]ics Isothermal system has constant Temperature Pressure Entropy Energy Conservation
Two point charges are at the distance d. If force between these two
25 Electro-stafistics Coulomb’s Law charges is F, then what i the force between charges when the Fi3 Fi9 Fi3d Frad
distance beiween them is 3a7
Capacitance of a
- What is the change in kinefic energy of a proton when it is
26 Electro-stafistics pac’:g:'cﬁ':rte accelerated through a potential difference of 2MV? g2 032n Ll T 0321
Charging and
27 Electro-stafistics Discharging a The greek word "xeros” and "graphos” means:... sharp graphics dry writing wet writing wet graphics
Capacitor
Charging and selenium is a good zelenium is an insulator in the selenium is an conductor in the
28 Electro-stafistics Discharging a Which one is the correct statement about selenium? conduc‘.to? selenium iz a good insulator  dark and becomes conductor  dark and becomes insulator
Capacitor when exposed to light when exposed to light
29 Current Electricity Potentiometer '@ Stator of ph::f\sch'ﬁg?e:ggﬁggeu’smlﬁfﬁa‘: g”"’“”dm” Wit g0 gle-phase winding Two-phase winding Three-phase winding Any of the above
0 Current Electricity ohm's Law is a SEER] E'w’t';flln?:j;gy having fxed polaribgand Motor Metals Battery Generator
Two wires of copper are of the same length but have different
- Specific resistance or diameters. When they are connected in series across a battery, the _
31 Current Electricity resistivity heat generated is H1 When connected in parallel across the same H1=H2 H1<H2 H1=H2 H1>H2
battery, the heat generated during the same time is H2 Then :
32 Current Electricity Kirchheff's Rule Kirchhoff's current law is applicable to which fype of circuits: Series Parallel Any of these None of these
33 Electromagnetism  Magnetic flux density =~ Mo force acis on a current carrying conductor when it is placed- per&e:;;;:lg%g:;he parallel fo the magnetic field far away frﬂ;lr:a};le magnetic inzide @ magnetic field
34 Electromagnetism  Magnetic flux density Magnetic permeability has units as Tesla henry Tesla/m Henry/m
a5 Electromagnetism  Magnetic flux density Magnetic field outside of a long solenoid is varying with radial uniform Zero not enough information
distance
36 Electromagnetism Magnetic field Is it possible to visualize magnetic flux lines yes d"s‘::.[lllﬁ ‘é":ega” see we need microscope we need telescope All cases are not possible
37 E'eﬁ:gum;%:e“c Faraday's Law emf = -N(AD/AD IS according to Ampere's Law Faraday's Law Lenz's Law none of these
38 E'Eﬁ:gum;g:f“': Lenz's Law The Lenz's law refers to induced current induced potential motional emf all of these
Electromagnetic : voltage in primary and current in primary and input power is same as the .
39 Induction Transformers For a 100% efficient step down transformer secondary are equal secondary are equal output power output power is zero
] Generating electricity- . . ) -
m Electromagnetic Alternating Current Devices that consume electrical energy in the external circuit of appliances machines motors load

Induction

Generator

generator are known as
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Electronics

Electronics
Electronics
Electronics
Dawn of Modemn
Physics
Dawn of Modemn
Physics
Dawn of Modern
Physics
Dawn of Modern
Physics

Muclear Physics
Muclear Physics
Muclear Physics
Muclear Physics
Atomic Spectra
Atomic Spectra
Atomic Spectra

Atomic Spectra

Answers:

o

0N UA WN R
OO X>» >0 00

12.A
13.C
14.D
15.B
16.A
17.B
18.B
19.C
20.A
21.B
22.B

Recfification

Semiconductor
Dicde
Diode
The wave-particle
duality
The wave-particle
duality
The wave-particle
duality
The wave nature of
particles
Half Life and rate of
decay
Biclogical effects of
Radiation
Law of radicactive
decay
Half Life and rate of
decay
Atomic Specira / Line
Spectrum
Alomic Specira / Line
Spectrum
Alomic Specira / Line
Spectrum
Atomic Spectra / Line
Spectrum

A full wave rectifier is operating from 50 Hz mains, fundamental
frequency of ripple will be

Majority charge carriers in P-type semiconductor are
In the breakdown region zener behaves like a
11 the temperature of diode increases the leakage current will

white light gives spectrum after occurring
Photocell is similar to
The concept of work function was given by

The eleciron shows purely a when free.

Half life of a radiation active element is that period in which half of
the atoms

lodine-131 is used to trace which cancer

Half Iife of Au-198 is 2.7 days what will be the activity of 1 mg of
Au-193

what is the maximum electron energy in neutron beta decay

The wavenumper of a photen in brackket series is 9/400 R then
electron transited from orbit with guantum number

The longest and shortest wavelength of Lymen series is

The ratio of wavelength of last line of Balmer series and last line of
lymen series is

The ratio of longest wavelength of of Balmer series and last line of
lymen series is

23.A
24.A
25.B
26.C
27.B
28.C
29.B
30.C
31.B
32.B
33.B
34.D
35.C
36.D
37.B
38.A
39.C
40.C
41.A
42.A
43.B
44 A

100 Hz

Holes
Contant current
increses

diffraction
photoelectric effect
Bohr
particle nature
diffuse
lungs
120 Ci
783 eV
n=3
1215 A0 912A
2

4/9

25Hz

electrons
Constant voltage
decreases

interference
compton effect
Einstein
wave nature
decompose
thyroid gland
200Ci
783 KeV
n=2
1215 Ato 500 A
1

9/4

50Hz

neutrons
constant resistance
remains same

reflection
photoluminescence
Rutherford
dual nature
disturbed
breast
240 Ci
783 GeV
n=4
1215 Ato 70D A
4

2715

45.A
46.A
47.B
48.B
49.D
50.B
51.C
52.B
53.D
54.A
55.C
56.D

200Hz

protons
none of them
none of them

all of these
none of these
none of these
it transform to photon
decay
liver
280 Ci
783 Tev
n=5
900 Ato 700 A
0.05

5i27
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5% | Question Answer Option (A) Answer Option (B) Answer Option (C) Answer Option (D)
1 The unit of velocity is:... m ms mis m/s*2
2 We can calculate velocity of an object from displacement-time graph by:. . calculating area under the graph finding gra-iii:"rlet;:a:'l:::placemenb calculating area above the graph finding the length of the graph
3 If a caris travelling towards Zaf?;re'fef;’;:::f down, what i the direction towards east towards west neither east nor west we can not answer with this data
4 Displacement of sun with respect to earth is r 2mr 2r 2
5 If the velocity of parficle is \tcalﬂr;gujgluel:rlbye\.wlh time then shape of d-t linear quadratic cubic decreasing linearly
3 Work is a vector quantity scalar quantity sometime s;rc::;f;rsorne time none of these
A particle of mass ‘'m’ is projected from the ground with an initial speed ul
at an angle ‘a‘ with the horizontal. At the highest peint of its trajectory it
makes a completely in inelastic collision with anather particle of mass = 5 s s
7 which was thrown vertically upward from the ground with the same initial & 4553 45%ea 90
speed ul. The angle that the composite system makes with the horizontal
immediately after the collision is
8 If momentum is increased by 20% then K.E. increases by - 0.44 0.55 0.66 077
Two springs having force constant of 3 : 4, both the springs are streched
9 by equal force, if elongation in first spring iz x then elongation in second 3x 4x 34 403
spring is
Paotenfial energy of the particle of mass 0.5 kg maving along x axis is
10 given by U= 2%x(x-3) . the speed of particle is maximum at Tm IS Zm im
1 A body performing circular mofion with a constant speed has a constant - momentum angular velocity acceleration radius vector
A car iz moving in & circular track of radius 20m at a constant speed of - -
12 20m#sec. Find the cenfripetal acceleration? 20 mis*2 40 mis*2 30 mis*2 10 mis*2
13 If an object is undergoing an urb::lll‘;':ljutmn around another object it is Revalufion Rotation Both of them Mane of them
14 Angle between radius vector and centripetal acceleration is o0 ™ 2w none of these
15 If angular velocity increases the also increases time period frequency vibration none of these
16 The object oscillates due to: = resforing force its weight centripetal force foree of friction
20 waves pass through a point in a medium, in 5 seconds. What is the
7 time required to pass one wave? 1/4 sec 4 sec 112 sec 2sec
18 Frequency of a traveliing wave iz 2000 Hz. Itz spead is 300mis. What is 203 m 20%3 m 320 m 33 m
its wavelength?
If f1 and 2 are frequencies of two tuning forks, such that f1 < 2, then
19 number of beats produced in one second are: Eaill 2xf f-i2 2=
A steel wire hangs vertically from a fixed point, supporting a weight of 30
M at its lower end. The diameter of the wire is 0.50 mm and its length
20 from the fixed point to the weight is 1.5 m. TEHz 176 Hz 50 Hz 150 Hz
If density of steel wire = 7.8 x 10*3 kg/m3, then what is the fundamental
frequency emitted from the wire.
. - . - pressure = high pressure = low pressure = high pressure = low
7
21 Under which condifions, a real gas approximate to an ideal gas® density = high density = high density = low density = low
4 liquid has specific heat capacity c. The rate of change in temperature of
22 liguid is /. The rate at which heat is transferred from the liquid is F. What PicR PRIic Pc/R cFR
iz the mass of the liquid?
. . . e A . b : increase in the internal increase in the potential decrease in the kinstic enargy
23 The increase in temperature of the object is an indication of: decrease in the intemnal energy energy nergy only only
24 Molar mass of water is 0.0158 kg/mol 0.108 kgfmaol 0.027 kg/mol 0.0635 kg/mol
a5 If two point charges of charge g7 and g2 are placed at distance d. The d 42 1d 1id2
force between them is proportional to:.. - !
A charge is moving with velocity v, it enters a uniform electric figld £ The
26 direction of v and £ are not parallel. parabole cireular paraliel to v parallel to E
What is the path of the charge particle inside the eleciric field?
Twio equal, opposite charges are fixed at a distance d. Positive charge is
27 at the right and neg?(iwe _al ths'leﬂfusngn. As shown below: X, ¥andZ X only ¥ and Z only ¥ only
At which position, the net electric field is directed to the left?
Two charges of -2uC and +4uC are a fixed distance apart. As shown
28 A +4uC hegjw: 2uc c ats only 3t B only at C only ats, Band C
At which position can the elecfric field be zero?
28 Ohm's Law is applicable only when temperature remains changing absolute zeno constant MNene of these
30 Terminal potential difierence of a cel increases wr.l:;;;::sr:ars:aln its internal decreass wgsi-ls:tfnf n intemal is |nde:e|:::i::a::c:t: internsl None of these
31 Electrical power of a battery iz defined as the rate of Supply of electrical energy by battery Produsion c'i':;‘e';" enargy of 2 bath none of these
32 Electrical power is given by P= v 2R VIR all
33 Cos @ =@/ BA A B B"2
34 A charge of 1pC is moving a nlipalallel_lo magnetic |in&5 of force, then the o B WEsin® QB
magnetic force acting on charge is
a5 Find the magnetic flux densﬂ}ar::i? fsfch::]( of 28 units iz enclosed in an 178.33 units 186.67 units 19277 units 200 units
36 Lorentz force in electric and magnetic field is F= qu[E+E] qE[v+E] qvB q[E+vB]
37 The principle of a direct current generator is based on Coulomb’s Law Ampere’s Law Faraday's Law Lenz's Law
38 Which of the following is the unit of mutual inductance? Weht-d Wh3sATZ V2s et
39 The maximum instantaneous valueasrgeasmed from zero value is known peak value peak to peak value cycle period
40 Which of the following remains unchanged in fransformer Vaoltage current Power Capacitance
41 The number of dicdes in bridge rectifizr is 4 3 2 L]
42 what iz the range of typical band gap in conductors 100-1000eV 0.5-10eV 0.01-0.1 eV 10000-10000000=Y
43 Voltage afler which in fowaa;z|?;;§ ‘i::'crglrelzdsla" to rise with increase in breakdown voltage reverse voltage forward voltage knee voltage
A half wave rectifier is operating from 50 Hz mains, fundamental
44 frequency of ripple will be 100 Hz 25 Hz 200Hz 50Hz
45 Calculate the energy of a photon of wavelength 6600 angstroms. 0.3 018 axi0*-18J A0x10-18d 300 x 10°-18J
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45 A hydrogen atem in its ground siate absorbs 10.2 eV of energy. What is

the orbital angular momentum is increased by?
47 Plank's constant is analegus to
48 x-rays are used to investigate
10 If the ionization energy of hydrogen atom is 13.6 eV, its ionization

potential will be
50 The number of protens in the nucleus is called number
21 The existence of positron was discovered in the
Which of the following substances cannot be emitted by radicactive
52 " .
substances during their decay?
53 Spectral lines is like a of absorbed or emission energy in a
spectrum

54 Lifetime of an excited siate is
35 Energy difference in balmer series for longest wavelength is
56 Consider the wavelength corresponding fo n=2 to n =1 in hydrogen atom

the shortest wavelength is

Answers:

C

C
C
B
B

NowubkwnNpR

. the correct option (45
degrees) is not given
8. A
9. D
10.D
11.B
12.A
13.A
14.B
15.B
16.A
17.A
18.A
19.A
20.A
21.D
22.A
23.B
24.A
25.D
26.A
27.D
28.C

29.C
30.B
31.A
32.D
33.A
34.D

36.D
37.C
38.D
39.A
40.C
41.A
42.C
43.D
44.D
45.C
46.D
47.C
48.A
49.A
50.A
51.B
52.A
53.B
54.C
55.A
56.D

4.22x10"-34 Js

Inertia
crystals

13.6eV

atomic
thermal radiation

proton

charged pattern

10°(-6)s
1.9 8V

Hydregen atom

2.11x10%-34 Js 3 16x10%-34 Js

1.05x10"-34 Js

Wave nature Angular momentum Liner momentum

molecules ions electrons
136.0 eV 348V none of these
charge atomic or charge neither atomic nor charge

cosmic radiation electromagnetic radiation non-electromagnetic radiation

neutrinos helium nuclei electrons

fingerprint pattern discharged pattern Mone of these

10°-T)s 104(-8)s 10°-3)s
2.89eV 568V Taev
deutirium signly ionised helium doubly icnised helium

Working for question 20:

Example 8.3: A steel wire hangs vertically from a fixed
point, supporting a weight of 80 N at its lower end. The
diameter of the wire is 0.50 mm and its length from the
fixed point to the weight is 1.5 m. Calculate the
fundamental frequency emitted by the wire when it is
plucked?

(Density of steel wire = 7.8 x 10" kgm™)
Solution:
Volume of wire = Length x Area of cross section
Mass = Volume x Density
therefore
‘Mass of Wire = Length x Area of cross section x Density
So, mass per unit length m is given by

m = Density x Area of cross section
Diameter of the wire = D =050 mm =0.5x 10" m

Radius of the wire = r = o =025x10°m

Area of cross section of wire = 77" = 3.14 x (0.25 x 10°m)*
F=w
therefore
m=78x10"kam" x 3.14 x (0.25 x 10° m)y*
m =153 x10"kgm"’
Weight = 80 N = 80 kgms
Using the equation (8.17). we get

80kgms ™

=76s"
1.53x10 " kgm''

or fi =76 Hz
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Physics paper 4

5 | GQuestion Answer Option (A) Answer Option (B) Answer Option (C) | Answer Option (D)
1 If a car moves from 15 miste 5 ma‘si;n 10 sec then average acceleration 1 mis*2 Imisn? 5 misn? 10mis"2
if a car starts from rest and reaches 20 m/s velocity in 10 m distance then
2 acceleration is 20 mis"2 10 mis"2 5 mist2 2mis"2
3 instantaneous velocity is defined as dx/dt Favfing fog At fvlit
4 For a siraight trajectory of a particle instantaneous velocity is 2*{average velocity) average velocity zero not enough info
5 instantaneous velocity is always positive always negative positive and negafive not enough info
5 Work done by the centripetal force on a body moving in circle is zero the body moves parallel to F the body move opposite ta F the body move right angle to F centripetal and centrifugal balance
because each other
7 ‘Which is the unit of energy joule erg unit{Kwh) all of these
8 A particle having mass m and rr!om_entum p, kinetic energy of the particle o*2im pim pA20(2m) mh2Up
iz given by
A spring of force constant 800 Mim has an extension of 5 cm, the work
8 don in extending it from 5 cm to 15 cm 164 8J a2 244
A spring gun has a force constant 1000 Mim. When a ball of 10 gm is shot
10 from this gun, its spring is compressed by 10 cm. Find the maximum 20m 25m 50m 100m
horizontal distance that can be achieved by the ball : (g = 10 m/s2)
11 What is 1 radian in degrees approximately 57.3 degress 360 degrees T degrees T2 degrees
12 The angular speed for the daily rotafion of Earth in rad s*-1is7? 2m s 4m 7.3 x 105 rad s°-1
13 Angular displacement is zero when angle =0 v=0 =0 both b and ¢
14 Which guantity is a scalar quantity angular displacement angular velocity angular acceleration none of these
15 Angular velocity cannct be zemm negative infinite linzar
16 The stafionary waves can be set up on the string cnly with the the tension, length and mass perunit  the tension and mass per unit length of the length and mass per unit the tension and length of the siring
frequencies of harmonic series determined by: length of the string the string only length of the string only only
17 The frequency of a string on a musi;:‘;i.l instrument can be changed either varying the diameter or by changing the length | varying the tension or by changing the thickness varying the :ensiIoEr:‘go:-hby changing the varying the th ickn;snsg::hr by changing the
18 A standing-wave pattem is formed when the length of the string is: an odd multiple of quarter wavelength an integral muitiple of quarter an integral multiple of an integral multiple of half wavelength
wavelength wavelength
A stafionary wave is setup on a siring of length 10 cm. Four leops are = L -
19 formed. what is the distance between two consecutive crests? ™ sem e 125 em
20 If a pipe iz clozed at one end and open at the other, the closed end is a: antinode node rarefaction erest
21 Sysfem in th ¥ ics is di ted with surrounding by Pressure Universe Boundary Temperature
. a e
2 For an ideal gas heated under conslan_t pressure the % of heat utilised in 04 05 03 02
work is
Two samples A and B of a gas initial at same pressure compressed from .
23 W to Vi2 (A isothermally and isobarically) What is the pressure in & Fqualial greater than B less than B Tviice of pressure at B
24 When a ideal munal_omic 9as i_s heated a_l constant pressure fra_clion of 44232 44260 24201 44759
energy supplied which increases internal energy of gas is
A proton has mass m and charge g. It is suspended in eleciric and _ . _ - _ _
2 gravitational field. What is the magnitude of electric field? E=mygiq E=miaiat E=m'g/qvE E=q/myg
26 What is the formula for Coulomb's law? F=Kg1q2ir2 F=2Kq1q2/ir*3 F=Kq1lr F=Kq1ig2
The change in potential energy per unit charge between two points in an .- - - y —_
7 electric field is called Potential difference Absolute Potential Electric infensity Permittivity
28 Series combination of two capacitor C1 and C2 iz C1+C2 (C1)C2) (C1C2){C1+C2) C1c2
29 The fractional change in resistivity per kelvin coeflicient in resistance coeflicient of resistivity resistance Maone of these
In case of source of charge at a point, the total charge flowing towards
0 the point and the total charge flowing away from the point must be el ot equal does not relate none of these
k1 The ratio of emf of two cells E1/E2 equals L1/L2 1.2 L2/mL1 21
With the help of Kirchhoff's Current Law (KCL) and Kirchhoff's Voltage
3z Law (KWL}, you can find equivalent and of different current, frequency current, voltage resistance, current resistance, voltage
conductors.
Find the Loreniz force of a charge 2.5C having an electric field of 5 units
33 and magnefic field of 7.25 units with a velocity 1.5m/'s. 02 e Baae g8
34 Magnefic Field lines move from north to south south to north =35t fo west west to 235t
A sguare coil of side length 2 mm is placed in the x-y plane and in uniform . .
33 magnetic field 0.1 T. find total fiux through the cail iy 018 We b o we
36 Strength of magnetic field is called strength fluse magnetic flux density density
a7 In order to enhance magnetic flux, the primary and secondary coils of the st iram core ron core hard iran core P
transformer are wound on
33 Transformer operates on AT DC both none of these
39 Sl unit of inductance is Henry Farad Maxwell Weber
A cable 4 km long and of total resistance 1 ohm camies eleciric current
40 from a generator producing 100kW at 10,000 Volts. The current in 10 10,000 1000 100,000
amperes in the cable is
4 Transistors can be used as half wave rectifier full wave rectifier both none of these
42 electrons in the valence band of semiconductors are called valence electrons free electrons farmi electrons none of them
43 Pure semiconductors are called intrinsic semiconductor extrinsic semiconduator elactronic devices nane of them
44 Which of the following rectifier uses wheaistone bridge to rectify signal half wave full wave bridge All of the above
45 Electron r P the nature of particles which are particie wave both nons of thess
electrons
46 Which of the following statements is incorrect about the phots M tum of photon hik Rest mass of photon is zero photon exert no pressure Energy of photon is hv
47 In stationary waves Strain is maximum at anfinodes Strain is minimum at nodes Sfrain is maximum at node Amplitude is same at all poinis
48 A particle perrmmi_ng SHM when i!s d_ispla_l:eme_nt is 3 cm, its acceleration 4rSec ImSec ImSec TSec
is 12 cm 5-2. It is vibrating with period
49 Molecular gpecira are examples of solar gpecira continuous spectra band specira line specira
50 Az mass number increases. which of the following does not change mass density volume binding energy
If alpha, beta, and gamma rays carry the same momentum, which has the
51 langest wavelength? alpha rays beta rays gamma rays all have same wavelength
52 The half life of radioactive element is 0.693A 0.693/k W0.693 1k
An lonic atom which is equivalent to hydrogen atom has length .
53 equal to 1/4th of hydrogen lines is He Lis Ne+ Natl
54 When two electrons are removed from an atom the charge on atom 7 2. 0 4
becomes
55 If two neutrons hit together at slow speed they behave like znooker balls immediately comes fo rest fuse into each other nothing will happen
56 Radiation exchange occurs in which medium solid liquid gas vacuum
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20.B
21.C
22.A
23.B

24. Wrong options; The
correct answer is 3/5

25.A

26.A

27.A

28.C

29.B

30.B

31.A

32.C

33.A

34.A

35. Incorrect question.
Should be “A square
coil of side length 2 mm
is placed in the x-y
plane and in uniform
magnetic field 0.1 T,
which is also in the
same plane, find total
flux through the coil.”
The answer would then
be D.

36.C

Premedical.pk

37.A
38.A
39.A
40. A
41.D
42.A
43.A
44.C
45.B
46. A
47.C
48.D
49.C
50.B
51.D
52.B
53.A
54.A
55.A
56.D
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